LECTURE 6
Portfolio Performance Evaluation

CHAPTER 24
Considering Factors Before Investing:
1. Expected Risk – set-up expectation
2. Measure Risk – quantify risk
3. Time – set time for expectation
4. Allocation (between Risk and Non-Risk)- achieve efficiency and then optimization - CAL
Measurement:
· Compare vs historical performance
· Compare vs Market performance / Vs other portfolios
· Compare to Expectation (Realized Returns vs Expected Returns) - 

1. Concepts of Return:
· HPR concepts Vs IRR  - basic CF / Initial Investment
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· Arithmetic Rate of Return
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· Geometric Rate of Return
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2. Measurement of Risk/Return and Analyzing the Relationship

· CAPM (Achieving risk adjusted market returns)

[image: ]

· Sharpe Ratio (achieving return optimization)

[image: ]

· Treynor Ratio
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· Jansen’s Alpha – Seeking Alpha (Alpha = Actual Return - CAPM )
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· Modiagliari Squared (M^2) (adjusting for Standard Deviation Return)
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Treynor Ratio =

r, = Portfolio’s return
e = risk free rate

Bi= Portfolio’s beta
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Where:

erf = the effective return of a risk-free asset,

am =the average retum of a portfolio (highs or
lows),

arm= the average return of a market portfolio,

Op = the standard deviation of a portfolio (highs or
lows), and

&m = the standard deviation of a market portfolio.
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Example: Arithmetic Returns

* Note that the arithmetic average is not the
same as the geometric average

. R +R,+ R, +R,
1 10% Arithmetic average return =%
2 -5% 5 & ; &
10% —5% +20% +15° ,
3 20% R,=— 22T 0T 2 0 go,
4 15% 4

— So, the investor’s return in an average year over the
four year period was 10%




image3.png
Ry :[(IAR‘)x(l+R:)x(lbk\)x(l+k,)]“—l
:[(un.nu)x(]»o,oss]x(no1|)x(|+c.|xx)]‘34
= [(1076)(1.055)<(111)x(1188) ]+ -1

=1 4069]1 -1




image4.png
R =R +[(R,~R,)

R = Return on Asset i

R, = Return on Risk Free Asset

£ = Covariance of Asset and the Market
Divided by Variance of the Market

Return on the Market Portfolio
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expected return of the portfolio or investment
1y =risk free rate
6, = standard deviation of portfolio returns





